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YiTd & qeg fratad g # Frf B g g

(A) du7 vz (B) gty

(C) wom == (D) fafy o
Whao appoints the Chief I'lection Commissioner of India
(A) Members of Parliament (B)  President

(C) Prime Minister (D) Law Minister

2011 & FrE % sEr St W b Frfefen st o fees wfeen @ 7
waifies & 7

(A) Fraeh (B)  swumye

(C) &MYt (D) i

As per 2011 census which distriet of U.P. has the highest female literacy rate ?
(A) Shrawasti (B) Balrampur

(C) Kanpur (D) Ghaziabad

frffaa Toai § B9 waH Sl & ST ¥ 39§ fsad arEE & & 7
(A) USRI (B) e
(C) HEMT (D) afeS
Which of the following states provides largest contribution to wind c¢nergy in the
country ?

(A) Rajasthan (B) Gujarat

(C) Maharashtra (D) Tamil Nadu

(A) TTHEIH (B) afeem

(C) weawEyl (D) FTaUE

Which of the following states has the largest area under forests 7

(A) Rajasthan (B) Odisha

(C) Madhya Pradesh (D) Jharkhand
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Ry & Freeed Seras ey By e & AT T o B 7

(A) T
o (B) =W
(C) daed

(D) FA1d
W

‘hich of the following tributare, of Indus does not flow through Pakistan ?
(A) Rav (B) Beas
(€) Satluy (D) Chenab

(A) anfssm g—
(C) fem (D) WS
“7

hich of the following states ig the largest producer of iron ore in India ?

(A) Odisha (B) Jharkhand

(C) Bihar (D) Chhattisgarh

Frefefed Tt & &9 T ¥ aRY g2 v g w8 2 o

(A) ger (B) =han

(C)  arzrory (D) HFEYT

Which of the following cities is not situated on the right bank of the Ganga ?

(A) Patna (B) Haridwar

(C) Varanasi (D) Kanpur
8 @l &1 & Ay ey ar feA foar e v

(A) @Ml e (B) T 1w Higq vy

(C) & Ty fawa (D) @il zar= awed

Who gave the call 'Return to the Veda' ?

(A) Swami Vivekanand (B) Raja Ram Mohan Rai

(C) Bal Gangadhar Tilak (D) Swami Dayvanand Saraswati
721 C | 3 [ P.T.O.
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9 nﬂirﬁﬁa’m (B) gum o= a4
(A) @ s (D) wawemm #imu
i yrax HH } )
. ounder nt'(;ud:"‘ part?
Name the 101 ‘ (B) Subhash Chandra Bose
; ala Hardayd )
(A) Lala (D) Madan I al Dhingra
(Cy Madam ( ami
e g @ | b a7
710 frefefia gl § A ferd |
- L (B) duiel fagle
(A) @ [aaie D)
(C) @ fagE ).
Which of the following Revolts Was associated with Sido and Kanho ?
(A) Kol Rising (B) Santhal Rising
(C) Khasi Revolt (D) Bhil Revolt
11 wrea & Hge # et
(A) WrEa & egufd (B) @raEn
(C) g (D) st |y
Ihe Parliament of India consists of -
(A) President of India (B) Lok Sabha
(C) Rajya Sabha (D) All the above
12 ﬁwﬁﬂﬁaaﬁémmaﬁawﬁm—m%gﬁmém% [
(A) sg=E 70 (B) srg=E 67
(C) sigede 66 (D) 2 64
Which of the following articles deals with the election of Vice-President of India ?
(A) Article 70 (B) Article 67
13 wmEwr ¥ egl : 4
- 4 fraffas a=adt &1 wem ¥ -
¢ number of members in I.ok Sabha elected from states is ,
(A) 520 _ i —
) (B) 525
(C) 528
(D) 530
72-1_C |
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frefafad 2om 4 feey gy, By
(A) ®9
(C) sl

Iy 218 Al fepan war 4ar «
(13) A

(D) e

which of the followi . ) ) ‘
" ng “ountricg LA World Cup 2018 was organised 7

(A) Russia ;
(B) Germany
') Brazil ;
(C) Brazi (D) Australia

%2()18ﬁmﬁﬁ5a=ﬁfamwévéﬁmg‘m?

In how many assembly seats Of Karnagaka was the election held in May 2018 ?

Y
(A) 224 (B) 223

(C) 222 (D) 221

Wwﬁmwﬁméw‘mﬁzmsﬁmaﬁmmﬁﬁ?
(A) 136.6 &= (B) 135.4 %1z

(C) 1375 ®u= (D) 134.2 w1

As per estimate of the Population Division of U

nited Nations what was the population
of India in May 2018 ?

(A) 1366 Million (B) 1354 Million
(C) 1375 Million (D) 1342 Million
17 Frefofad & f6d emm o ais @ 390 2007 e fepar ey 3 7
(A) =rs 7= (B) a5 wdha
(C) 2 zamT Frzad (D) & wzera Jad
Who among the following has been declared the Time person ol the year. 2017 ?
(A) Donald Trump (B)  Angela Merkel
(€)' The Ebola Fighters (D) The Silence Breakers
72-1_C ] 5
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o8 & T ey

A srer zra 28 = mﬁwﬁ%ﬁm‘awﬁw%
g R v -
(A) #arg (gfearm %) TR (Fergzen)

(C) g1 (wdre) ) (s w3s)

o Avog 00 28 Mare .
As per list issued by NITTAYOE larch 201% o aspirational' districts whjgy,
; \ e

e g D
is the most backward district -

(A) Mewat (Harvana) (B) Shrawasti (Uar Pradesh)
(C)  Sukma (Chhattisgarh) (D) Namsal (Arunachal Pradesh)

ﬁmﬁfﬁ@aﬁﬁv@mﬁﬂﬁmmmfuﬁmmmmmm%?
(A) asmare (B) s gz

(€) gam. e (D) smd e

Who among the following is called the father of Indian DN.A. finger-printing
technique ?

(A) Yashpal (B) Lalji Singh

(C) U. R. Rao (D) R.P. Rastog

20) Prefian & @ R Bt @ T 7

(A) gfq @t (B) Tt sar
(C) Temsht @ (D) Fraay w\

Which of the following is NOT a level of teaching

(A) Memory level (B) Diflerential level
(C) Reflective fevel (D} Understanding level
21 Frefefad & 68 ama faem qawie 5 geea ® 09 T & 47 TG 7
(A) 9 by (B) 3 &4
(C) uwd. d (D) TEE I
Who among the t'ollo\\ing is known for introducing the concept of Human
Development Index
(A) John Keynes (B) Amartya Sen
(C) A.C. Pigou (D) Mahbub-ul g
72-1.C | ’ [ PLO.
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sy ) e faren SRR (1964 ¢

- B ST AT #
(A) THIHEH ST e ?ﬂh o
\ S T ] - i (l;) 'r};mﬁ \mﬂ
() fagafaad SEM amgm )
tun Eillacation Commiag (D) e S
Indian Education Commissig,, '
kris] (l964~()6) is oenerally known as .
/ hakrishnan Commjsq; o o
(A) Rad MiMission (8) Kothari Commission

(C versity Grants . .
() University Grant (ommlsxmn (D) Mandal Commission

mﬁwaﬁm%ﬁfaﬁw (i) g & wE e ¢
(A) HTR &= ) dugE T
(C) <. (D) $mE @
Who among the following scholary has ysed the term 'Paradigm’ in scientific research ?
(A) Auguste Komte
(C) T.S. Kuhn

(3) D.L. Morgan
(D) E.H. Carr

gher % A0 TH IR BT ey o |
(A) o & (B) fafea e

(C) oid g% & (D) gdurg &

While doing research it is better to select a hypothesis which is
‘A) Tentative (B) Fixed

(C) Proved (D) Approved

fogafemee OEM AT B T 6 a9 F P T ¢

In which year was the University Grants Commission established ?
(A) 1954 (B) 1956

(C) 1938 (D) 1960

5 291 ¥ 7 & § mrg g @R B A W W 7

(A) 9M (B) %=
(C) =3E o (D)
Which country has recently granICd citizenship to humanoid robot 'Sofia" ?
(A) China (B) Iran
(C) Saudi Arab (D) TIraq

72-1.C | 7 [ PT.O.
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(A) o el B) aay fory

(C) wreg s (D) vy g

Who is the head of the Western Ghats "'U"U:&.\ Expert Panel (WGEEP) 2
(A) R.K. Pachaur (B) Vandana Shiva

(C) Madhay Gadgil (D) Pradip Krishna

28 faer gt ara fea P & fad Reie & qeg foar o 7
(A) i) (B) vanferaz
(C)  3auye (D) sgqadis
Which Princely State was taken by the British rulers under the 'doctrine of lapsce' ?
(A) Jhansi (B) Gwalior
(C)  Udaipur (D)  Ahmedabad
@y ngnd
29 g4 @ 9ad TE e a7
(A) g™ (B) sif
(C) | (D) gEwfd

Which is the Seventh planet from the sun

(A) Uranus «(B) Saturn
’(((') Mars ~ (DY Jupiter
30 wmfq & sfer 2
(A) T st (B) @3 arftrer
(C) wrmfaas sifrere (D) A Aferpr

Right to property is a
(A) Personal right (B) Constitutional right

. (C)  Social right (D) Legal right

72-1 C | © 8 # dPTO.
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(A) 9fn g
() an wiqag

Largest cranial Capacity way [oun,
(A) Peking man

(13)
(1)
L in

) (B
(C)  Java man (l)))
@ adiyaq (Circadian) g g1
(A) W Eerant (B)
(C) & afi

Who coined the word Circadian 2
(A) Tranz Nalberg,

(B)
() E. Bunning
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BILELRL Hi-td
PALRIM Hi4d

Nc;nulcrlhul man

(‘ro-magnon man

by fyuey (e

3. . enaferr

(D aifert frdl

1.1 Thapliyal

(D) Colin Pittendrigh

I3 Uk uy @ @y ¥ THE W qU FY ay ggdld & b B @ HEd B 7
(A) ey (B) s
(C) urwefa snwg @1 frgia (D) fearaifas
Fhe act of an animal that benelits another at its own expense 1s called as
(A) Commensalism (B) Altruism
(C)  Mutualism (D) Symbiosis
34 ﬁwﬁéﬁmﬁm%mzﬁaﬁﬁwﬁﬁaﬂ%%qswwmwamfsfma
foman T ar
(A) "o (B) %3
(C) ot (D) e

The first nuclear transplant from an animal to an cgg that produced a normal adult

was performed on a
(A) Frog
(C)y Cat

>

qaterr wguvr @ Frifi s & fau @
B

(A) uielfafeuge
(C) Infafsugm
Identity the technique (from the list be
environmental pollutants.
(A) Polyremediation
(C) Nanoremediation

72-1 C |

(B) Sheep
(D) Dog

A aeeiie i gaaretial s awdm e s

(B)  amifiafsogy
(D) T ¥ 5 8

low) that uses live microorganisms to degrade

(B) Bioremediation
(D) None of these

9
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TR St 4 o
e By s A safd fﬁ"ﬁ Wf%ﬁ F 3 fom g

20 fgﬁ}’:ﬁﬁ
(A) ami ) @i
(©) (D) a
In‘western blot. if vou arc using primary Antibody (10 antibody) raised in pogy. {p.
the origin of the sccondary antibody (20 4ntibogly) should not be 2 St
(A) Goat (B) i\d bbit |
(C) Mouse (D) DOnkcy
mquﬁmmwmwﬁw&mqmm%?
(A) ®E @ qham (B) T wuirg
(C) & v iy (D) At
Which statistical tests used to observe the changes induced in a subject before and
after treatment.

(A) Chi square-test (B) One way ANOVA

(C) Two way ANOVA (D) t-test
S % fadas we g Frerion fovar sy 2
(A 3. & A

(A) UV Spectroscopy

(B) Circular dichroism
(C) VIS- -spectroscopy

(D) Beer Lambert's Law

Elﬁﬁwﬁmqaﬁm%ﬁaﬁﬂrm T4, I &1 QX7 A1 Ry R
(A) T et s (B) ¥ m
(C) e difear frae (D) e gadr s
With reference to biophysical methods, what is the full] form of NMR ©
(A) National Malaria Record (B) Naked Rat
(C) Nielsen Media Research (D) Nuclear Magnetic Resonance
wmmﬁﬁﬁﬁwﬁ%wwmﬁqﬁﬁﬁmﬁﬁﬁmmﬁm
T ® 7
(A) ufsadr smfe (B) zfuof senfér
(C) w=dr = (D) ggr @ =mfen

One of the following techniques
homogenate or extract :

(A} Western blotting

(C) Northern blotting

Is used to detect specific proteins in a tissye

(B) Southern blnlling
(D) Far-Eastern hlolting

10 [ PT.O.
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41 ST WA N R Ay gy E
Number of chromosome i Primary S X o
(A) 22 Y Spermatoc)
(C) 46 ) 2
(D) 48
2 fifes g I
i i
(C) quem " tm o
- (D) &ee
Change from pyrimidine to purine ang purine to pyrimidine is called :
(A) Reversion (B) Frame shift
(C) Transversion (D) Transition
B9 F dom wivts mhed @ ae _ e R
(A) 3. T A& (BTQ&:{_Q@W.Q‘LQW
(©) 3. w1 v A W aqw (D) & TF. U WEH
During transcription. the how of genetic information is from :
(A) DNA to DNA (B) DNA to RNA
(C) DNA to Protein (D) RNA to Protein
44 gw:&.m Q.ﬁ,maﬁaw(&HM)mtﬁwﬁﬁé%,mmw
(A) 0.34 ¥R T (B) 134 Fandet o7
(C) 3.4 F9meR @ (D) 34 s9pfex 31
In doub-le helix DNA. there are 10 base pairs in a complete twen: the successive
base pair are :
(A) 0.34 nm apart (B) 1.34 nm apart
(C) 3.4 nm apart (D) 34 nm apart
45 cAMP wrl & I 9 s @ &
(A) wrenfes (B) wshifer amemer
(C) = m=remstie Epem (D) Himfefm
In the cAMP pathway, the G protein stimulages
(A) Phospholipase C (B) Adenylyl cvclase
«C)  The endoplasmic reticulum (1) Calmodulip
7241 C | it
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48

49

50

N ikElR
Apoptosis 9% i ;—,ﬂ;‘%{" 7d Fffry o
(A) & e, GO '
(B) T i A
(C) 2 & ae 8 4l
(D) srive g A B S
The process, apoplosis. 15 0N¢ ‘lf b &' cells
(A) Are programmed to dic. Shf' WL and shrip,
(B) Develop structures in the Wrong placeg
(C) Die because of injury .
(D) Are guided to appropriat¢ locations ip the body

5 fn FETT gy

A7 A FE v A b AT A ) gy it 2 B A

(A) T s & qrEA A d2 A

(B) @ 42 e feafam &1 s

(C) wdfmg wimufsrn &1 wfsmat g1 & 919 vapidz 21 o

(D) T & T F yaw A 9 A g |
Immediately following strenuous and vigorous exercise. which of the following is
most likely to occur ?

¥ (A) Blood will be rapidly diverted to the digestive organs

7 (B) The skin will be cold and clammy
(C) Capillaries of the active muscles will be engorged with blood
(D) Blood flow to the kidneys quickly increases

Hiteh %1 dya wfafafy afews df 4w g 2

(A) TH. TH. HT. g (B) % 3

(C) Z4+ (D)) arfeaTs!

Electrical activity of brain during mapping can be recorded by
(A) FMRI (B) EEG

(C) ECG (D) Polygraphy

YIEIATEE B B G (Td) &Y 7y § A6 b

(A) 7o 99 % (B) a3 & "I &

(C) THRweHzd & UEAmT & (1)) i (30 F HHE %
Prostaglandins have no role in the decrease of

(A) Blood pressure (B) Gastric acid secretion

(C) Blood platelet aggregation (D)) Uterine contraction

HAH FE FIT W A A gegey g

(A) amwd (13) af Tz

(C) & A (D) el EEEAT 4z

The most probable place where Jife would have originated

(A) Outer space (B) Bamen rocks

(C) In Oceans (1)) Deep hydrothermal vents

72-1 ¢ | 12 | PTO.
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waﬁaﬁmaﬁwﬁmﬁm%%_mﬁﬁmg
(A) Avireife |

(C)  wranTaifas

(B) Syt
(D) aEd@m

Blood in some animals i blue due {0 the presenee of
' 1

(A) Hemoglobin @) | lacmOC.V"‘”‘i”

((.‘) MyoglObin (D) (‘} loch[-omc

Uh AB ol & aftd &) ey af g aa R @
A person of blood group AB can be ransfused blood of which group

(A) A (B) B

(C) AB (D) All

A b1 FAfHfra® & afomy § @qr @

(A) Tors oo (B) dmfed
(C) Tt (D) zmafen
Over dilation of stomach results

(A) Rugaue formation (B) Belchin
(C) Irritation (D) Diarrhoea

e & 9 &9 3E1 3 grer e 27

(A) & gy (B) =z

(C) @rewe (D) =iy
Which of the following are egg laying mammals o
(A) Marsupials (B) Bats

(C) Insectivores (D) Monotremeg

72-1 ¢ | 13 [ PT.O.
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B 3 a5y 3 WA gudar vad gu dETE

\
When two related pnpulatmn\ that have geographically isolated come back nto
contact. retain their reproductive isolation and compete for resources these may be

a divergence in traits known as

(A) Character convergence (B) Character displacement

(C) Sibling speciation (D) Phyletic evolution

@ﬁﬂ%mﬁﬂﬁﬁmmmmw%?
(A) W@qwﬁaammsmﬁﬂamm%
(B) gum feguvia da et U ST Er ¥
(C) gum U guuirg qe SIS Uh SIS Ei @
(D) afywr feguoir qem omveter fasmweTod e &

Which of the following statement is wrong for Ascaris ?

(A) Testis arc monorchic & ovaries are didelphic.
(B) ‘Testis are diorchic and ovaries are monodelphic.
(C) Testis are monorchic & ovaries are monodelphic.

(D) Testis are diorchic & ovaries are didelphic.

57 e fod @ed &7
(A) T wE
(B) wh TFIHCT IR
(C) % W
(D) FE ot T& & U& efimtor gofy
Taxon is :
(A) A Genus
(B) A taxonomic unit
(C) A Species

(D) A taxonomic category of anv rank

72-1 C | 14
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ﬁ%%]r‘a;w* ﬁfw*«ﬁf}i?rﬁﬁﬁa;}aﬂ?mgﬁ%? X

(A) ’lmﬂl i 1 Sy 3rﬁ“{' FH B9 @Al B,
& qrafie? & &l

VAU & WA e & T

(B) WWWW%%WWWWWWWW%

(L‘)&W%Mﬁm@{%mwmﬁm% |

“))Wmmﬁq@méwﬂllwwwm? |

With reference to Kidney function which one of the following statements is correct?

(A) During summer when body loges lot of water by evaporation, the release of
ADH is suppressed >C

(B)  When someone drinks lot of water. ADH release is suppressed 7

(C) Exposure to cold temperature stjmulates ADH release X

. ) . s« formati " Angiotensin 1
(D) An increase in glomerular blood flow stimulates formation of Angio X

foerd <t i fow amr & s o 3

(A) faerfm @2 (B) foerfir 12

(C) faerfim (D) UETeH TR

Vitamin-G is also known as

(A) Vitamin B2 (B) Vitamin B 12
(C) Vitamin P (D) Ascorbic acid

et o & & 1 uh aifredll s (@i wfeR) ¥ dey e &
(A) V. P9 B E

(B) V., 9o

(C) K, &9 &Ta1 &

(D) K, Fowm 2

Which one of the following is associated with competitive inhibitors ?
(A) Decrease the Vit

(BB) Increase the Vinas

(C) Decrease the Kos:

(D) Increase the Km

" RN S}
72-1 C | =


https://applink.adda247.com/d/XhqWf9lSap

Addal247
Goo%NIe Play

62

63

64

y . gl
”mefmﬁm (B) ot ufire

(A) mm :
e . 'un e nfrs
: ‘ Nuhcsl/.cd by plant

Fatty acid that cannot D€ 2. B Line
(A) 1 enoliate (([)) P"nohauc acid
(C) [ enolatic acid ~ almitic acid

& %9 6 o famrm 2 2

division required to produce 50 seeds of an

snanq_aa?rﬁ’r%smﬁﬂ

Minimum number of meiotic angiosperm

15
(3 xM= 52 sperms

(C) 50 (D) 63 (2

ﬁmfi@a?mmnmﬁmwﬂ%@ﬁﬂmﬁmﬁm%?

(A) B (B) @ g

(C) wRERIeTae (D) @S

Which of the following is the major fat in adipose tissue of a mammal ?
(A) Cholesterol (B) Triacylglycerol

(C) Phospholipid (D) Sphingolipid

Wﬁﬁ%ﬁmﬁmmﬁﬁmﬁ%?

(A) =zH (B) geidH

(C) @l & (D) W

Two isotopes of the same clement differ in their number of
(A) Neutrons (B) Electrons

(C) Energy levels (D) Protons

fefrg Y9z @1 faerar &

(A) EfefEwmEE (B) T WG FEEHET

(C) Uit W (D) d@q< AFEIEIEE|

Structure of lipid rafts is characterized by abundance of

(A) Hemidesmosomes (B) Highly saturated hydrocarbons
(C) Peripheral proteins (D) Gaturated hyvdrocarbons |

72:1 C | ,
- o | PT.O,
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66 H g6 e wpn difi,
Ihe genotype of indivig
(A) XXX

R (B) XO
C) XYY o
( (D) XXY

o) } 1G4 ] KT‘TI
1 &) Ay ¢y AHIETS

ual haying sexual character ol female is
~ s (8

67 = 9 Q4 B W oan 9 3 .
(A) Tfepa - Y-prgs
(B) Hiiwa — X-murgs
(C) Wé&ﬁmftg@uaﬁmaﬁmgﬁq%
(D) W%ﬁmﬁiﬁéﬁm:@mﬁﬁﬂ%
Which of the following is a barr hogy
(A) Inactive Y-chromosome ’
(B) Tnactive X-chromosome
(C) 1t is a gene having main function in the development of male
(D) 1Tt is a gene having no role in the development of malc

68 = Wi FES B T AR G wa

(A) s e g (B) @i fEwa
(C) Swiar (D) @ fEret
Two animal-cells are interconnected by :

(A) Plasmamembrane (B) Plasma desmata
(C) Desmosomes (D) Cells wall

69 1. TH. U. HywWv & A BH () wem ar wn e
(A) =3’ PR 1 S5
(C) Swia Ml feomd =wng-wmg & (D) ws w9 & uep & faon &
What would be the frame reading direction during DNA synthesis ?
(A) 5'——3
B) 33—
(C) Both of the above directions simultancously
(D) At one direction at a time

70 TREREg gat @ et e @y WO ¥ 7

(A) TATHA (B) sew
(C) werhs (D) s
The centromeres move toward the poles in :
(A) Anaphase (B) Interphase
(C) Metaphase (D) Telophase
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£

fy-wrtraaan X B B
(A) «ﬂ”’ﬁmmﬂgmﬁw%

(B arer @ 9o g i 3 3 a3

() wiggnd gig & " N

una%mwmmwh@*j‘f*mﬁm - b
L " dg av (‘(

In a lipid bilayer the lips

‘A) Their water repelling heads mullg INward o /,twlo,,

(B) Their water repelling tails facing inward ACL ferd

(Cy Their hydrogen bond forming heads faung inward
(D) Their hydrogen bond forming tails tacing inward

N e /L A o

(A) #TT. T, U, T (B) ¥ w. v e

(C) 1 T, T WEET (W) (D) & . v yrwr (wrosw)
RNA synthesis requires which of the following ?

(A) RNA template (B) DNA template

(C) RNA primer (D) DNA primer

ofAIe e @ wai efuem SfEl & SEE ¥ Eid 3, adife 97
(A) de novo pathway @ Ul ?
(B) wizel e & fabe & Obdl
) & iy b fadr @ T @
(D) & wied § g & 9 B e @
Aminopterine is used during the production of hybridoma cells because
(A) It blocks the de novo pathway
(B) It prevents the growth of B-cells
(C) It prevents the growth of myeloma cells
(D) It blocks the synthesis of Immunoglobulin By B-cell

74 fafesr iRt & @ % 99 FeHeE g gRIAQY B 3 d wEA & -
(A) G (T TT9R) (B) 2T AW SFEHIAY (TeArTFe)
(C) FEO9w (SZEITES) (D) e (@ T
If the transplant or graft is between the members of different species: then it is
called -
(A) Xenograft (B) Allograft
(C) Isograft (D) Autograft
75 U & e H S-S g § ay oy & @ A(6h d wgAl a Uit e v §
AT T B 7
(A) o (B) femras!
(C) HAT=E= (D) HrEa
I'he present of two or more cell fines from different zygotes in a single individual
is known as :
(A) Mosaicism (B) l)iploid)'
(C) Ancuploidy (D) Chimaerism
72-1 C | 18
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80

mﬁﬁmﬁm‘ﬁé@%ﬁémwaﬁgwﬁﬁmﬁmik
(A) T

(B) A faed

(C) FUTEH & U v g g

(D) wHEM® -1 3nu e

Cell surface receptors may be any of the tollowing except

(A) G protein linked

(B) Enzymic receptors

(C) Single-pass transmembrane progeins for neurotransmitters

(D) Chemically-gated ion channelg

U % Aot HPE b g iy Sefeer Hadl A TR

(A) e (B) famer

(C) erfifean (D) Tered

The homologous protein of mammalian {3 catenin in Drosophila is
A) Hedgehog (B) Winglen

(C)  Aumadillo (D) Cactus

aRawk & Il el & ¢

(A) wregwE 9 (B) afceedn §

(C) o @1 9§ (D) #egemT °

The origin of brain is from :

(A) Ectoderm (B) Endoderm

(C) Ectomesoderm (D) Mesoderm

ue AET F e ak #

(A) =iy o (B)  sstgrr o

(C) el T 4§ (D) Twisr &

[n human female the fertilization takes place :

(A) Vagina (B) Ovary

(C) Fallopian tube (D) Uterus

& g 3 fowfae 29 o fee W 9% 9 @iy ¥ Ak (totipotent) 5 erwar
B B 7

As mammalian zygotes divide. all cells are totipotent up to which cclled stage.
(A) 4 (B) 6

(C) 8 (D) 16
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81 oW W % 4 weded a9 B .
(A) Tframme ([ ) fmﬂ%
() T D) A
Platelets are formed from what type of cell 9
(A) Mcgakuryoqtc (B) Macmphage
(C) Astrocyte D) Me anog\{c
82 wmmm@maﬁﬁw%/ ~
(A) 120780 firsh, B)80/120 y
(C) 120/80 & 4 (D) 80/19 Ah
For a healthy-resting about person the stolic/diasgofi pressures would be
(A) 120/80 mm B) 80/120
(C) 120/80 em D) 801129
83 ﬁwﬁw&gawﬁaéqmwmﬁﬁnﬁ : A & o ey &
(A) sty PCO, (B)  srafirss bicarbonate
(C) chloride &) gy (D) 3utiaq gy
Blood chemistry shows the following changes in compensated respiratory acidosis,
(A) Increased PCO, (B) Increased bicarbonate
(C)  Decreased chloride (D) All of these
84 gfen wsdwr et 2 3
(A) g (B) T
(C) dfaws (D) sk
Urea synthesis oceurs in
(A) Kidney (B) Liver
(C) Brain (D) Muscles
85 3% ¥ wnfm e &
(A) 2% wraw w@ = (B) wmEArziEs
(C) @ vamw (D) o
Liver secretes o
(A) No digestive juice (B) Chymotripsin
, , alt
(C) No enzyme (D) No sa ‘
AR
86 AT T Fr an fif s 3 0 o Thpmnliophing e
(A) TiETEETHE T
(C) urztige
1TRH is produced bv | N
(A) Adenohypophysis k] Neumh'y][? ()th B
(C) Thyroid (D) Hypothalamu:
72-1 C
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89

90

91

(A) ®eNd qTuHH
(C) SR Aria (D) semgrdl AT

(By oz arasH

In birds and mammals. which of the following lemperature will be nearest to the
> followng

"Core temperature” ?

(A) Axillary temperature (B) Groin emperature
(C) Oral temperature (D) Rectal temperature
A At ¥ 1

(A) ufrdesra foman (B) aafdaa foman

(C) ity &0 & uftdeia s (D) gaq wiFd

The process of genetic mutation ig

(A) Reversible (B) [rreversible
X(C) Partially reversible AD) Continuous
FET qU e B AT JTERH g wed # o |
(A) TH T TEH THEH Hd (B)Wﬁ.m.q.wasw
(C) b S &1 dyauwm (D) <. wA. T g . T T, & EEA

Nobel prize to Kornberg and Ochoa was awarded for
(A) Onc gene one enzyme hypothesis X

(B) Artificial synthesis of DNA

(C) Aurtificial synthesis of genes

(D) Chemistry of DNA & RNA

TF FUITEl A9F o T T & A9 fhY T wERT & deEd @
(A) wdH gHSH (B) W& GHH

(C) TH HHT FHI (D) f& d@&T w&Tw

A cross between recessive parent and hybrid is termed as :
(A) Back cross (B) Test cross

(C) Monohybrid cross (D) Dihybrid cross

(A) fofen = T@dsE ®id & g9

(B) @ ¥= Teihye G & @8I

(C) feifen B Temdhs™ wih § T

(D) «fitn B= Ty wih &

Okazaki fragments are used to clongate

(A) The leading strand toward the replication fork

(B) The lagging strand toward the replication fork
(C) The leading strand away from the replication fork
(D) The lagging strand away from the replication fork
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(A) SR g feETH t[_))) W iy |

() A @ 3

Which of the following disorders does no show X-linked inheritance ?
(A) Duchenne muscular dyslmph_\’

(B) lay-Sachs disease

(C) Hacemophilia A

(D) Haemophilia B

Fre & & A W st g TR B R vt 3 o fradiow @ omt a
T B § 72 6 H BT

(A) wraifen e (B) wirmifean amdam

(C) wHIfEay Aoy (D) wrmifeay siam

Which of the following species is responsible for Quartan Malaria. in which the
duration of schizogony in RBC is of 72 hours

(A) Plasmodium falciparum

(B) Plasmodium vivax

(C) Plasmodium malarial (D) Plasmodium ovale

e o & @ a1 Tg U @ e ae § 3

(A) ToEfE (B) uifezm

(C) =F & (D) " (Ta%)

Which of the following is not a part of tubefeet in a starfish ?
(A) Ampulla (B) Podium

(C) Stone canal (D) Sucker

P & 8 B9 W arq THa @ G e gute (S @) 7

(A) wash & 790 qen ¢ &1 dmrdy (g2 v wey dwrd):
SR (FUwEy)

(B) #& & #a ¥ &1 UM : A (@R

(C) T H Y® AR (A aE ) - wRe (aaimn)

(D) w3 & T4 e (rariestem)

Which one of the following disease of domestic animals is paired wrongly ?
(A) Foot & Mouth disease of catties - Bacteria (Streptococcus)
(B) Liver rot discase of buffaloes : Trematode (Fasciola)

(C) Red water fever of cows - Sporozoan (Babesia)

(D) Bovine tuberculosis - Bacterial (Mycobacterium)

i
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100

@ & T Agde sy vy
. l: { t
(A wEriEE G & e ’

£ 9 fan
() g2 s A & fe

(B)  fagqrerers @4 *
ate cont: : (D)) &y 4dl HeA#o @ fetr
Nifrate contamination iy drinking water may he responsible for

(A) Fluorosis ponsi
(B) Minunata diseise

'} Tai Itai disease
B WS A B A 0 Gy gy gfyrdal & BT E y 7
(A) AgAAHD SH{bHY (B) i HH
(¢ )_ A , ' _[r; Al _ (D) fafaas AEH
Which of the following succession jg pesulted from the changes brought about by
the organisms themselves
(A) Allogenic succession (B) Autogenic succession
(C) Primary succession () Sccondary suceession

et denfern {6 dz @ avid by

(A) uftd sarfiad (B) sfifereh sierind

(C) werddig aerd (D) wrpfed ad

The phenomenon of ‘industrial melanism’ demonstrates T
(A) Induced mutation (B) Geographical isolation JL
(C) Continental drift (D) Natural sclection ‘

A TR b e § Frefafia daat o @ B ad A e

(A) araueE @) vt st 4 afew wEeet B S

(B) @ guwr w4 # aifs sifed @ 6

(C) 38 38 dwdye A goar & vl fafasd 4 ol 2

(D) 9& 1& =9 il @

Which statement out of the following is incorrect with reference to ecological
succession !

(A) The role of decomposers becomes more and more important
(B) The food chain relationship becomes more complex

(C) Species diversity increases as succession proceeds

(D) It is a random process

e o @ g Feprardt i AP Ed R

(A) 9 v (B) sdise safrads v i qw@
(C) W s (1) urfaa au

Which of the following cyolutionary process 15 random

(A) Gene flow (B) Mutation and genetic drift

(C) Specimtion (1) Natural selection
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